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number2 parseFloat(num2);
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QU

prompt ("1
prompt ("2

numberl = parseFloat(numl);
number2 parseFloat(num2);

if (!isNaN(numberl) && !isNaN(number2)) {
console. ("BUE: " + (numberl + number2));
console. ( A=K numberl - number2));

console. ( =K numberl * number2));

console. ("& : number2 !== © ? (numberl / number2)
} else {

console.
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numl = prompt("1DH:!

num2 = prompt("22
if (numl !==

numberl = parseFloat(numl);
number2 parseFloat(num2);

(!isNaN(numberl) 8& !isNaN(number2)) {
console.log("FLUE: " + (numberl + number2));
console.log " + (numberl - number2));

+ (numberl * number2));
+ (number2 !== @ ? (numberl / number2)

console.log

console.log
} else {

console.log

"
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B50: »(5) [3, 5, 18, 20, 5]
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5
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20

ength: 5
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console.log("EUE: " + (numberl + number2));
console.log("5|&&H: " (numberl - number2));
console.log("#HIH: " (numberl * number2));
console.log("ZEINDE: " + (number2 !== @ ? (numberl / number2) : " CHEIDCEETEFEFEFA™));

numbers = [numberl, number2, 106, 20, 5];
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console.log("fic%l:", numbers);

console.log("FHIBY —:", numbers.slice().sort((a, b) a-b);
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console.log("FHIEY —~:", numbers.slice().sort((a, b) a - b));

console.log("[#lEY — :", numbers.slice().sort((a, b) b - a));
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console.log
console.log
console.log
console.log
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, numbers.slice().sort((a, b)

.

, humbers.slice().sort((a, b)

a - b));
b - a));

B:", numbers.filter(num num >= 5));

=t:", numbers.reduce((sum, num)

sum + num, ©));
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p [[Prototype]]: Array(e)
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P1: (2) [4, 5, 6]
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P [ [Prototype]]: Array(®)
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w (3) [Array(3), Array(3), Array(3)] i
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length: 3

P [ [Prototype]]: Array(®)
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console.log("ZXschCH: ", matrix);

console.log("FEDER (217H, 35IH):", matrix[1][2]);
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console.log "R TCRA D EZER ") ;

for row matrix

for ( value row) {
console.log(value);

}
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